3. In atitration, what volume of 4.65 M NH; is needed to neutralize 90.7 mL of 1.80

MoV, = MY,

Now you try! Choose your favorite method. &

(1.80MY 90,3 ml) = (H.LS M)V,

CreoY e r i
\/b - MZ{T_E - 35‘ mlL

4. 1f 29.9 mL of a soluticn of RbOH requires 16.1 mL of a 2,3 M solution of HCIO, for complete titration, Whét is the
initial molarity of the RbOH solution?

MA\V% = Mb\lh
(z3MYIL 1LY = M, (29,9 mL)
M - Cz.%)(.l(g:_}l: 2 ’\VLREBE]

b 219.19

Multiple Choice Practice

1. 0.60 M HNO; was used to neutralize 15 mL of 0.30 M KOH. What volume of HNO; was needed?
@) 7.5mL b. 15.0mL c. 225ml d. 30.0mL
Mqva’;Mbvlg 0.3x15 (R -
B fé': = 71’, 5 mL

(0.6)V 4 = (0.9(15) Ve © 0.l

2. The complete neutralization of 15.0 mL of KOH requires 0.030 mol HNO,. The [KOH] was:
a. 0.0020 M b. 0.50M (c) 20Mm d. 50M

meles HNQE = moles KOH 0,030

e b o tmt

O, 026 mol = M (0.0150 L} HM, © b oI5

3. During a titration, what volume of 1.00 M KOH is necessary to completely neutralize 10.0 mL of 2.00 M HC,H;0,?
a. 10.0mL- @ 20.0 mL ¢ 25.0mL d. 40.0mL

N\-“\[%‘ - Mb\{iﬁ
(Z,DDM‘)(‘D,O&;L\) = “_DD M}\/,b
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